Statistik Human 28.05.23

Std.-

N Minimum Maximum Mittelwert Abweichung
Alter 47 16 31 20,21 2,528
Biologie 47 14 37 25,09 5,315
Chemie 47 7 24 16,30 3,782
Physik 47 3 15 8,32 2,529
Mathematik 47 2 10 6,64 1,725
TV 47 7 12 10,49 1,081
Figuren 47 6 15 10,85 1,888
Zusammensetzen
Zahlenfolgen 47 5 10 8,32 1,353
Wortflissigkeit 47 3 15 10,47 2,483
Gedachtnis und 47 5 25 17,91 5,200
Merkfahigkeiten
Implikationen Erkennen 47 5 10 9,13 1,408
Emotionen regulieren 47 4 12 7,77 1,697
Emotionen erkennen 47 0 9 3,62 2,112
Soziales Entscheiden 47 5,0 14,0 11,179 2,5102
Gultige Werte a7

(listenweise)
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